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TTHT=T 3397 :
(i) 1 37% Jict 3971 & I U 91 & Uk qiaFT % &1 |

(i) 3 3P It I & FH 50 - 75 Fecl & &1 /
(iii) 4-5 37H] FIc? Fo1 & IR TTHT 150 52 & 51 /
(iv) 6 7Pl qrct Fo41 & I TTYT 200 Ve & &1 |

()  TF IJHT F Yt 9T GIg-gqrg & &7 i |

General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to one
sentence.

(it)  Answers to questions carrying 3 marks may be from 50 - 75 words.
(iii) Answers to questions carrying 4 — 5 marks may be about 150 words.
(iv)  Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

1.  ‘Sagiies w=iewr ¥ 1 AUE B 2

What is meant by ‘Business Environment’ ?

2. U T Yoy 9U & faeem@ # ford IohR 98T BT § |

Explain, how management helps in the development of society.

3. TII9H & Tk TR o 9§ Tew@ 1 31 9qisu |

Give the meaning of ‘Objectives’ as a type of plan.
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4. ‘oo fafree’, g o areft a3fiAl 1 3ot B | TS Rl WigY Ush fod H
500 IS G ITeAl TIMHT T IcUTE HEAT 3 | A H rgartyes fafirsieror 3
S HAEATNET I HoAdt H Jhg AT & | 39 THR ok Eed & H FAEl
gl &l B |
3Tk aftfd T g & JehR ! UgeETT | 1

‘Himalaya Ltd.’, is engaged in manufacturing of washing machines. The
target of the organisation is to manufacture 500 washing machines a day.
There is an occupational specialisation in the organisation which
promotes efficiency of employees. There is no duplication of efforts in
such type of organisation structure.

Identify the type of organisation structure described above.

5. ‘Oal I AT Tohd TeRR T HEAH] hi St FLAAT oh I ohl JHIIGA HLdT B ?
HHATRT | 1

How does ‘cost of equity’ affect the choice of capital structure of a

company ? Explain.

6. NG THEdH I HIER Farshi # Azt 2 | sHe Yo wd U i fa
AT o foRqd YR SAEEIIH BHI I Ig TATEH (CATd @ foh STHRAISAT
%! FEU A T TG 3fod THT W ITAH HUS A b |

3 I o AU H HRU qd U IgT HIV foh ‘IR wwade’ i wrisha g6
1 ATTTIHATE HH BT AT AfH | 1

‘Bharat Express’ specialises in Courier Services. Its ‘wide range of
express package and parcel services’ help business firms to make sure
that the goods are made available to the customers at the right place and

at the right time.

State with reason, whether the working capital requirements of

‘Bharat Express’ will be high or low.
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‘Arefd oM fafes’ 4 9WR H A Seifosd % WY Y&w fRa R s
3G9 yau el (SAifea faeem), wR-sdlymd, Sus o i afiH, e
St ol oft TEqa W fean R | el At Scurel @ a8l R @ R
Hug Rreprrdi 1 gL T 3R Treehi 1 fasha & w1g <6l Fard o Iucrsy H0
W |

Tgi =feia fauuH-firs & o @l gy |

‘Maruti Vega Ltd.” entered into the market with coloured television and
have now introduced products like audio systems, air-conditioners
washing machines, etc. The company is not only offering the products but

also handling complaints and offering after-sales services.

Identify the element of marketing-mix discussed here.

feury 3 Norwd Aed’ @ T 25 ARG hl Th I8 B TG | 39 IgA T W foIw
qFd T qA SR G HAS: 5,000 TRaEieR, 10,000 TRamfer qen
15,000 fohadier @ ot W YoM ofF A%E-gars (Ffdn) i g 9T T
HI T | T AT HR HI YW AHE-YATS (TATT) H gEa dar & forw @ =
T, d W SdrEn T R g8 PR A8 R T8 R 3@ B W HBIE-YTS
(afdifem) = wom giaar 61 v ugd & I3 S Gl @ | 3/ AW g3 Tk
35k H1Y UG B3 7 3TN 3T TS HHITH § Th R o1 I | T HHRH
& foiy @ |ge 9€ 8 W 3EA Q@ weHl & g folw foen T aw 3w foawg
3T ST |

F1 TeATy] TST A o o o foeg oTfiad o TehdT g ? 3104 3T o dHeH
T o Y |




Himanshu purchased a new car from ‘Galaxy Motors’ for ¥ 25 lakhs. He
was offered free insurance for the first year and three free servicing to be
availed after the car had covered 5,000 km, 10,000 km and 15,000 km
respectively. When Himanshu took the car for the first free servicing, he
was told that the car was not new and first service had already been
availed on this car. He felt cheated and filed a complaint in the State
Commission. Being not satisfied with the decision of the State

Commission, after two months he decided to file an appeal against it.

Can Himanshu appeal against the decision of the State Commission ?

Give reason in support of your answer.

9. ‘MU=l T W A1 ATIN B ? 3Hh fohral ol ANl oh1 IgW hIFT | 3

What is meant by ‘Formal Organisation’ ? State its any two advantages.

10. foawor wiegml & == & ‘HrEo-ErEfad wRe fRd IR gifad a3 2
qugnsa | 3

How do the ‘Company-related factors’ affect the choice of channels of
distribution ? Explain.

11. ‘Tud. fames’ ws 9t el 8 SR el 1 TIeH ik TWR-hERMY
3IET KA 8 | B B B Rl 3 ‘eny’ g fd’ semea TR @ s uE
freepd freprent fob SMed &9 @ ©h A9iqt U o7 # o6 whdlmE & g
HANTT T Thell @ | HF T @&T Th fod H T-hSemd 61 1,000 $hrsdi
% Gl Bl TANH BT 8 | HFEIH FH A &L hl TF FJIRANIATG i hH
% fofe smmetieh W g Ht @ | @l I SRd G © | AR TR oft o e
T head 800 TS TI-HEITHE o TSIl o1 &1 GASH & @1 & | hRl qal A
& [T P 3 Tedeh Hoigl o dT&dfash sqre sl gt shi 3t Hhefl.defl. =
Heaw § <@l foh % g TRY H 2R o |

(27) ST afdd Jawg & HR I IgETT |

(@) vgam fhu U SR K gl & 3T =N w1 3g@ Fifve ekt ==t
STh TT=RE § hl TS R | 3
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‘A.S. Ltd.” is a large company engaged in assembly of air-conditioners.
Recently the company had conducted the ‘Time’ and ‘Motion’ study and
concluded that on an average a worker can assemble ten air-conditioners
in a day. The target volume of the company in a day is assembling of
1,000 units of air-conditioners. The company is providing attractive
allowances to reduce labour turnover and absenteeism. All the workers
are happy. Even then the assembly of air-conditioners per day is
800 units only. To find out the reason the company compared actual
performance of each worker and observed through C.C.T.V. that some of
the workers were busy in gossiping.

(a)  Identify the function of management discussed above.

(b)  State those steps in the process of the function identified which are
discussed in the above paragraph.

YR TR 3 & AR A § §gd § Aer w97 H @2 | ™
fepal 19 1T sl HHSATSY |

‘The Stock Exchange performs many vital functions in today’s commercial
world.” Explain any three such functions.

SEEh 4 onfionft we dwvw feds w arefl el foar fafwee’, #
Ta-y o= & F9 H YGHR ST B | 364 <@l fob HroHl bl da-g= H wgd
¥ vt by fesem o | 9 fafia w1 @ STt gema 30 9 | 39 ggme B
1 BT g0 hig I9ET hI ATt off 3T T F 39k TAT i icdre fean Sman
o | 38 Sgcl IO 4 IS UiHg B TSITETE 6T a1t 1 STl Alienl
fopaT g1 o1 3R 375 ST ATl o G IFTo WA 1 YIAH fhal SIar
o1 | 36 HRU HHAR FAlCHTEd T H 7 o 3R IgH WA GIIE ¢ 9g
Hfem o |

() W afvta 6t T TEET qIE1 H IFAC |

(¥) 3g@ hife fF Swds wemor snen B e Aoft § ofiepa fom ST ek
21

(@) 3@ it 1 foreft 1= TEIwoT STen St EHEATST |
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Jaideep recently joined as the Managing Director of ‘Tivori Ltd.’, an
apparel designing company. He observed that the company had a number
of experienced fashion designers on its payroll. They regularly offered
useful suggestions which were neither appreciated nor rewarded by the
company. Instead the company outsourced its services to some renowned
fashion designers and paid them a good compensation for their services.
Because of this the employees felt disheartened and stopped giving useful

suggestions.
(a)  Identify the communication barrier discussed above.
(b)  State the category of this communication barrier.

(c) Explain any other communication barrier of the same category.

‘Gerer’ @ T AU B 2 Yoy o fohedl 19 329l o1 3g@ hifr |

What is meant by ‘Management’ ? State any three objectives of
management.

ST o UV H ITHIH T o HEw o fohral =1 forgai sl GHasy |

Explain any four points of importance of ‘consumer protection’ from the
point of view of business.

TR THT A T HEATAT % "1 9RAE T TR % fAC g1 1 FAISH
T HFRICH I I H o AT It fafies’ 9w 9 & it 3y i |
O TR au § T 4 95d IT=s1 1 RAT | ik Icdg TS AT IR
3Geh! fauue +ft Sieh TR T B W1 A1, $EfAT T §¢ S | SIS i 9@ b
T et i SAfofs =il 1 wdl et 9t | RS 71, S 9 'R el
W W @ AT, B FS GG AR HT TR AT 91 | 3 Fg fowam o
fop 319 Foit =1 SWTEQUl @1 € AR % T @ U 9 | qeH, e T
e T g AR I Full 61 q9reyu @ ¥ @R i 1 S 331
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Hehd 3 | 3T 3T=0 UNUIH THel 3R HF9] 9 shadl 39T 3cdTed s | 9y
@ ofyg fafie foivarstis & @y soq 1ot 3curg fEen § off fowar
o

(1) I AWM HI TgATT, FTEHRT AN Heh TS THT AT HEAHT
rfoess Sameal a6 o I A W B R |

()  3H FEURT % Hexd & fehdl i forgadi i ot weEw |

Neeraj Gupta started a company ‘YoYo Ltd.” with ten employees, to
assemble economical computers for the Indian rural market. The
company did very well in its initial years. As the product was good and
marketed well, the demand went up. To increase production the company
decided to recruit additional employees. Neeraj Gupta, who was earlier
taking all decisions for the company, had to selectively disperse the
authority. He believed that people are competent, capable and
resourceful and can assume responsibility for effective implementation of
their decisions. This paid off and the company was not only able to
increase its production but also expanded its product range with different

features.

(a)  Identify the concept used by Neeraj Gupta through which he was
able to steer his company to greater heights.

(b)  Also explain any three points of importance of this concept.

‘i fafiee & FHH=E oG g8 AT B QU HA F T FE g A
T 7 hregelichd Wl W H W o I TE 7 | sEfery HHEd waws 4
rfafich ATTee T O o ) § 3R FHETiEl % TR-R Jo % RO g
T SEd IAeH IR F |

gara e 5 wiags fra JR wU=TiEl & HIe 9 I & GG 31
WA= ®Y U ¥ GUTEH o I ST HehdT B |

o forrgl i ot o1 oft 3g@ hifse s wrenit st wiases % el g e
B




The workers of ‘Gargya Ltd.” are unable to work on new computerised
machines imported by the company to fulfil the increased demand.
Therefore, the workers are seeking extra guidance from the supervisor

and the supervisor is overburdened with the frequent calls of workers.

Suggest how the supervisor, by increasing the skills and knowledge of

workers, can make them handle their work independently.

Also state any three benefits that the workers will derive by the decision

of the supervisor.

18. 19 TAS.U. W 9GS T I % YU S A BRICA AW H Th TGP
HIOA H ARl TR Al | B U HEATNET H 3D Add TI WAl
P @ off | TG, HET Sl T AT o STTER off S wEaTEl i
T 3Md Sfe-E g L &1 Al | FF1 T R S HT A1 980 A=D1 Al
HI AT AU e o WY Igd =BT AR HLd U | o1 36 TS
95d G oft, Wfehd T« H1E U2l % HRUT IHeh TH AT WHT YohH o foIQ aw
T& o1 | 30 9ed @H W FR g vsar o, es SHent wreey fag @ oan |

394 Ig <@ Toh 39 FHET T WIHAT T had IHeh! HEIHT H IHoh HghHT bl
8 IAMUg 3 3 HHWAT § W Ig THEA g | THHI HRU HE hHA I
AlEAAl H T | gl qAT = b Toh T AR @ h1 Tgereudr off |
I TH TH 92 TR I WG TSI IR G ARl DIt AR I aral
% 7T =R 1 9oh1 Tehet @M1 3f0d Hod W 3ucTsd i 1 (ol T | i
3d H 98 5 §T @M I I * & UH-STeREl (H-sU) H died of |

() AT YA & 3T AW &1 IgQ i oehl ==t S H 18
2|

(F) ‘“BRf3N grRI IUATT T Ye-e o faga 1 3g@ i |

(@) W Fordl & el Wl vgEY R SUE IETEOT g e 3 AT
grfyd fomam 2 | 4
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Beni, after completing her MBA, took up a job with a multinational
company named ‘Fortio’. The company was paying good salary and perks
to its employees. The wages were within the paying capacity of the
company that provided the employees a reasonable standard of living.
The company also had a good work-culture and the behaviour of
superiors was very good towards their subordinates. Beni was very happy
in this organisation, but due to long working hours she did not have time
to cook her meal. She had to depend upon outside food, which was
deteriorating her health.

She observed that this problem was faced by many of her colleagues, not
only in her company but also in many other companies. This was because
of increase in the number of working women and non-availability of
hygienic home-cooked food. She identified this as a great opportunity and
decided to give up her job to supply packaged home-cooked food to office
goers at a reasonable price. At the end of the day she was also
distributing the left-over food in the nearby night-shelters.

(a)  State the dimension of business environment being discussed
above.

(b)  State the principle of management being followed by ‘Fortio’.

(c) Identify any two values being communicated by the company to the
society in the above case.

‘e s fafuee’, o foser @ =at-umg areft St 8 S YR W &
foTe fesai 1 M0 ShEdt @ | I8 319 39 TSsai i gat o1l ol THtd e =maa
? M T SH-aede arell weiel # ey w0 w1 fomm W @ | faw
TP AT B o HRUT HIYHT i SHehlicAeh o sl ATEIhdT & | ST o
foie fon fop o7 awar 3w S ek o webra safl | omar ofw W 9/
H T 9ga tfaes Frima amma (weieem i) fifga 2 | ffma e (weresm
HIEC) & @l Bl QU B b [T I F ISR & Tei@l Sl ST H A=
&1 Tt fo=m |

(37) STIE W &+ folw gt IR & 59 Joi@ &1 T R a8,

3T AT FATd T SH FHEST |

(F) 39 JoE & e ¥ ! fopadt srafy & fog fom o ot wendt 2 2
(@) 30 Yoig o1 3R fohm g9 & foru 3w femam S wehat 8 2
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‘Mission Coach Ltd.” is a large and creditworthy company manufacturing
coaches for Indian Railways. It now wants to export these coaches to
other countries and decides to invest in new hi-tech machines. Since the
investment is large, it requires long-term finance. It decides to raise
funds by issuing equity shares. The issue of equity shares involves huge
floatation cost. To meet the expenses of floatation cost, the company
decides to tap the money market.

(a) Name and explain the money-market instrument the company can
use for the above purpose.

(b)  What is the duration for which the company can get funds through
this instrument ?

(c) State any other purpose for which this instrument can be used.

20. G 1 7Y IARY | TS UHAT o TN T 3T hiT | 5

Give the meaning of ‘organising’. State the steps in the process of
organising.

21. ot gH 991 ¥ A9ell T Tewumgas § w1 & @ ] | 98 & Uid 31
Tudu % fou wfrg R | S SHw afte yergsw Fargd g, a1 3@ ot
sl 4 Ig 9= foh TSt shl 31 Yeidtd gl I | 99 39 Wil 92 <l Th
Tl Atk T Wi g R fn T @ |t B ST g | e HRw
IS T IcATE W Bl T 3R ITeh1 vure T & &1 T | 98 3kt
U TEell off 3R 79+ AT =l T & L 91 W& ot |
FAT WfAhT Th =S AqT oft S o SrefiEe Sl 9 FHaer ey ) o,
Mg 3¢ ANGRIG Ta ARG off et oft | 3T Telt & EgR & AR &=
T iR wegm foran fop 3weh fsared ® gom foham ST wehal B | 394 37Tl @l
e o THui-araeet fawei § siiet e IRy T oft 38 s SE-Ed™
TIh Ya-g gt o1 e o9 o | o oISl e § 99 WSt oft
3R 3o fAsuTea ¥ oft gur g1 IRy 8 T |
(31) HifeRt g1 freaTfed werg < %1 S ggeH HINT |

(¥) Y9 % IUYH B b 3G @ I AH FATSC STEhl TERIAr d Hifeh
Il o AR § U hL Fehl |

(@) 3T (F) H UM T a i fohedl dF fomivarett 1 3g@ i | 5
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Anjali had been working with ‘Tata Enterprises’ for the last ten years.
She was famous for her dedication towards the work. When the Manager
senior to her retired, all her colleagues thought that now Anjali would be
promoted. But to everyone’s surprise the vacant post was filled by an
outsider ‘Miss Monika’. Anjali felt demoralised and her performance
started declining. She would absent herself often and could not meet her
targets.

Miss Monika was a good leader who would not only instruct her
subordinates, but also guide and inspire them. She noticed Anjali’s
behaviour and felt that her performance could be improved. She started
involving Anjali in decision-making issues related to the organisation and
made her a part of a high-level joint management committee. Anjali was

now punctual to office and her performance started improving.
(a)  Identify the function of management being performed by Monika.

(b) Name the element of the above function of management which

helped Monika to improve Anjali’s behaviour.

(c) State any three features of the element identified in (b) above.

Hifgd T I T afdes fafiees’ & @i 2 | 98 s % o
Tt g i vl oft e 3 | FEET sreu-Aifen W fafve st @ fogt
Tg Al H FREIT FATE USH it 7 | Sl hl Wal TR UR W hHT S
2 | 39 HIO g Uty AT T ME AT SHHSH Td THAMET & forw I
SITd g | Hifgd THT 319 i | ST At i TR fee™ & g 9feg 2 |
(31) et Toeifcdt afdes fafids’ g S Wl < &id 1 919 Faqrs |
@) i v Rl T 2w TgE R

(|) UgaTHT foh ARl o TE9Ihdl hH o TTAR HFIHT gRT GL&T TSl i
foper STrargerehan <ht gfd &1 & 7 |

(3) SUIh VA STEEAT g THIS ol FRITNA fohrgl G el ol Igamy |
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Mohit Gupta is working with ‘Yellow Security Services Ltd.” He is also
recruiting security guards for the company. The company provide
security services in Delhi and Noida at short notice to various companies.
The guards are recruited on temporary basis. The guards provided by
this company are known for their honesty and punctuality. Mohit Gupta
is well known in his village for providing employment to unskilled people.

(a) Name the source of recruitment used by ‘Yellow Security Services
Ltd.’

(b)  State any one disadvantage of this source of recruitment.

(c) Identify the need of ‘Security Guards’ which is being fulfilled by
the company as per Maslow’s need hierarchy.

(d) Identify any two values communicated to the society in the above
stated case.

Ye= o AHfIRad frgr=i =l THETsy 6

(31) foum ugfa, 7 fp et 3w fam |

(9) ST |

Explain the following principles of management :

(a) Science, not rule-of-thumb.

(b)  Discipline.

‘srfieeh fAfiee’ gt HuSH 1 Icue B W 3 | IS Sl au § 98 AR

IR oY AIRAd N W 7 | 38 a9 ot a8 e o Afd i T a%d Wi R |

FHIUHT & UTE GATH Uohg 3TN UiasT H o o 1= 79w 3uiey & | I8 Th

YAl-AIfd JaFd e g a1 TuEdl, USRIR o §HF fadt qol 3T<s!

qTisies agfadl § favame wadt @ | 36 98 § IURH @ S 19w W

et o e A 1 IfHear od 8 |

HIOH 7 3. AEHL AR, &% T T 50 AT HT FO oI 7 AR K0T T

% AR AT YTAH FS fceeli & 31efi 7 |

HIHT & IR H ITYeE IiE=l 39 e geehi i TR Hehd il & Sl I8 U™

d & fop ot gro @i s fohar v faunfa fehem Se ofR fepaan foafa

fopar U |

Iwh aiterl | ufthal 3gyd d §T fheal IR Teehi I YgETHY U9 @S | 6
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‘Abhishek Ltd.” is manufacturing cotton clothes. It has been consistently
earning good profits for many years. This year too, it has been able to
generate enough profits. There is availability of enough cash in the
company and good prospects for growth in future. It is a well managed
oranisation and believes in quality, equal employment opportunities and
good remuneration practices. It has many shareholders who prefer to

receive a regular income from their investments.

It has taken a loan of ¥ 50 lakhs from I.C.I.C.I. Bank and is bound by
certain restrictions on the payment of dividend according to the terms of

the loan agreement.

The above discussion about the company leads to various factors which
decide how much of the profits should be retained and how much has to

be distributed by the company.

Quoting the lines from the above discussion, identify and explain any

four such factors.

TieeRt Sefl XI1 H AT Teae i T foeneff of | 36 fuarsht & fram
9 S =mee o6t fafia foRer ITd o qen =ee 3cdred o fafve uei § Ol ®9 9
fqur 9 | 98 WHR g FEd il Well W TH ARSI & fw oft g4
T | AR AL o Toh IESHI-HRE o &9 H 364 3= UEAT A
IEdl H A Jed W fGuuE i F THeId WAL B h [
forn | ek farsht 9 38 o7 goma fean fop areshi o fa=mi 3K wdl i wehid
T 1T 98 32 1 I R | 38 9 Tob 9k fopu gu Aforsk =rmerel
ogd 3Afaeh A off | 3 uar o fop =raa i feufd | s qa-fuifa faftrear
T&1 Bidl, TSgs RO 3cUTE T THEYAT ITH AT Hidd Bidl 8 | 394 ITE ol
gicR & T & o g 389 38 Arare e 9aa &1 AW i 3k
3 TR TUET h SR W — IYeR, FaAldeh a1 goid AW o i
forent © e fean | 38 I8 "egm fohan foh 3 9w 38 Icumg-fawdientor & wgman
Sl |

3T 3TI=RG o Hed § fauum & fF %t i auemsy |
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Radhika was a student of Business Studies of Class XII. Her father was a
farmer who grew different varities of rice and was well-versed about
various aspects of rice cultivation. He was also selected by the
government for a pilot-project on rice cultivation. As a project-work in
Business Studies she decided to study the feasibility of marketing good
quality rice at a reasonable price. Her father suggested her to use
internet to gather customers’ views and opinions. She found that there
was a huge demand for packaged organic rice. She knew that there were
no pre-determined specifications in case of rice because of which it would
be difficult to achieve uniformity in the output. To differentiate the
product from its competitors, she gave it the name of ‘Malabari Organic
Rice’ and classified it into three different varieties namely — Popular,
Classic and Supreme, based on the quality. She felt that these names

would help her in product differentiation.

Explain the three functions of marketing, with reference to the above

paragraph.
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